202142 H 24 H

[REHRELE 1 e HEHFRET—VTv 7]
(HAERT 2 i, At AR

IEERFR % 1A% 1) H

H Wi S 1E
17 91TH 842 = 1 i(ml —T) S22 = 1 Y (i — f)z
n—1 p n—1 p
26 T 1047H g=p—1%HnT g=1—pxHnT
T TsAE X = gxu, X. = Xi- ;;xl X, =
iXZi L ixm'
i=1 "2
84 47 H (3.67, 15.97) (3.64, 15.97)
84 917H 1 EHTEZY 1 FEHTED
105 317H NEAZFI D3 A3 15, 12, 6, 6 NEAZFI D3 H3 15, 14, 7, 6
105 617H ERHEL & %5 FEMMEI 9.29 L% B
139 547H HEE (11-6—1) HEE (11-5-1)
139 1147H ®NTHBZ L KETHEI L
148 T 147H WFMEEY] =p WREEY | =u
149 T 347H INEDF v X INE DI EA v X
169 #20.2 pr=n—1 ¢t =an—1
177 T1147H St = 3652.2 St = 3656.2
181 M1205 ok (22) F# | 3652.2 7| 3656.2
182 9206 (4) (i) A0FHEELBxC, BOE AOFMEE BxD, BOE
BRE AxC, COFHMEE  #HREL AxD, DOFRRE
A X BIEHET %. A X BIEHT 5.
189 212 147H 35 T HTAS 40 TiTHTAS
196 617H (Tig =Tty Tip — Tup)  (ig =Tty ..oy Tip —Tup) |
316 217H se(l2) = o1(1 4 p)/v/2m se(ls) = o1\/1+ p/\/2m
316 317H se(l2) = (14 p)se(ly) < se(l1), se(la) = /1+ pse(l1) < se(l1),

se(l2) = 0.033 x se(11)

se(l2) = 0.18 x se(I1)




